MATH 1060 Trigonometry

Exam 2

Formula Sheet

Pythagorean Identities

sin?6 + cos?0 =1

14 cot? 0 = csc? 0

tan?0 + 1 = sec? 6

Even-Odd Identities

I L =
sin(—6@) = —sin 6 csc(—0) = —csch tan (g) I /1 K COSZ
cos
cos(—6) = cos(0) sec(—0) = sec(0) sin 6
tan(—60) = —tan(d)  cot(—0) = — cot(f) ~ 1+cost
1—cosf
Reciprocal Identities = —F
sin 6
sinf@ = 1 J csc ) = .1 5 Reduction (Power-Reducing) Identities
csc sin
1 1 2 — 1 — cos(26)
cosf = p—— sect = g 2
1 20
1 1 C0s2 0 — &()
tan = 0 (:0‘59:t 7 2
. N co an a2l — 1 — cos(26)
Quotient Identities 1+ cos(20)
tanf — sin 0 cot f — cos ¢ Law of Sines
cos 6 sin 0

Half-Angle Identities

o(l)
()

1—cosf

+

V 2
/14 cos@
2

+

sina  sinf  sinvy

a b c

sinfa +8) = sin(a)cos(8) + cos(a) sin(8 Law of Cosines
sinfa — B) = sin(a) cos(B) — cos(a) sin(B @ = @4 2beos(a)
cos(a+ ) = cos(a)cos(B) — sin(a) sin(S P = @ ta® 2cacos(d)
e ) C?Zr(l?n)y;ii(ti)rjﬂs;n(a) e > = a*+b*—2abcos(y)
tanla+5) = 1 — tan(a) tan(3) Law of Sines Ambiguous Case:

_ ~ tan(a) — tan(pB) o No Trianele: b
tan(a — ) = 1 + tan(«) tan(B) o lriangle: @ <

Double-Angle Identities

e One Triangle: a > b.

e Two Triangles: h < a < b.

sin(26) 2sin 6 cos e One Triangle: a = h.
. — 20 qin2
cos(20) = cos”f —sin” 0 Some Cofunction Identities
= 1-2sin%0
. 0
— 9cos20—1 sin(t) = cos (5 - t)
2tan 6 T
tan(20) = ——— = si (f - )
an(26) 1 — tan2 0 cos(t) sin { 5 t
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